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QUESTION 1

In global load balancing, why might an administrator configure the response rate limit in FortiADC? 

A. To redirect requests from a blocked county 

B. To prevent FortiADG from being used in DNS amplification DoS attacks 

C. To protect back-end servers from SYN flood attacks D. To prioritize outgoing traffic by sending it through the link with
the lowed response time 

Correct Answer: B 

 

QUESTION 2

When using FortiADC in a global load balancing configuration, in which two ways do general DNS settings differ from a
global DNS policy? (Choose two.) 

A. Traffic not matching a global DNS policy is served by the general DNS settings 

B. Traffic matching source or destination criteria is served by the general DNS policy. 

C. Traffic matching the zone, as well as both source and destination criteria, isserved by the global DNS policy. 

D. Traffic not matching general DNS settings is served by a matching global DNS policy. 

Correct Answer: AC 

 

QUESTION 3

An administrator is running the following sniffer on FortiADC: 

Diagnose sniffer packet any `\\'port80\\'\\' 2 

What two pieces of information are included in the output of the sniffer? (Choose two.) 

A. IP payload 

B. Ethernet headers 

C. Port names 

D. IP headers 

Correct Answer: AD 

 

QUESTION 4

Which three statements about TurboHTTP are true? 
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A. It does not support content rewriting. 

B. It is supported only on Layer 2 and layer 4 virtual servers. 

C. It support the use of secured HTTP traffic. 

D. It can be used with Layer 7 virtual servers. 

E. It reduces network latency and system CPU usage. 

Correct Answer: ADE 

 

QUESTION 5

Which two statements about Layer 7 application delivery control are true? (Choose two.) 

A. It provides more intelligent traffic distribution decisions 

B. It provides the fastest traffic processing 

C. It supports only IPv4 

D. It requires more packets to make a decision 

Correct Answer: AD 
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